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100n alimenté en +12 / -12 V, la sortie du LFO variera entre

For standard LED :
--------------------

IC = 10 mA
RC = (VCC  VLED) / IC = (12  2) / 0.01 = 1000 Ohm

Based on the above calculation we could use the nearest higher value available on the market; which is 1k Ohm

Assuming the hFE minimum is 100; the minimum current required in the transistors base terminal to drive the LED is:

IC = hFE x IB
IB = IC / hFE = 0.01 / 100 = 0.0001 A (0.1 mA)

Again by applying the Ohms law we could calculate the RB value as follow:

RB = (VB  VBE) / IB

Assuming the minimum average voltage of LFO signal (Vlfo) with high swing is, through the resistor divider, about 3 volt (the OpAmp is powered by +12/-12 volt supply):

RB = (3  0.7) / 0.0001 = 23000 Ohm

Based on the result we use 22k Ohm
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Eurorack Power Interface

euro_power_10.sch
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For Low Current LED :
-----------------------
IC = 2 mA
RC = (VCC  VLED) / IC = (12  2) / 0.002 = 5000 Ohm

Based on the above calculation we could use the nearest higher value available on the market; which is 5.1k Ohm

Assuming the hFE minimum is 100; the minimum current required in the transistors base terminal to drive the LED is:

IC = hFE x IB
IB = IC / hFE = 0.002 / 100 = 0.00002 A (0.02 mA)

Again by applying the Ohms law we could calculate the RB value as follow:

RB = (VB  VBE) / IB

Assuming the minimum average voltage of LFO signal (Vlfo) with high swing is, through the resistor divider, about 3 volt (the OpAmp is powered by +12/-12 volt supply):

RB = (3  0.7) / 0.00002 = 115000 Ohm

Based on the result we use 100k Ohm
5.1k for Low current LED

100k for Low current LED
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